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1,2,3VM

1KB, 16KB, 256KB

1KB 1-50
KB/s
# 1 10 20 30 40 50
1 2824.09 | 11313.92 | 13146.74 | 14477.06 | 15820.55 | 14435.78
2| 1VM/1 2199.88 3668.44 3045.22 3489.26 3489.69 3651.15
3| 2VM/1 1847.205 | 5216.28 | 4813.335 | 4472.785 4176.1 4245.375
4 | 3VM/1 1594.433 | 3661.04 | 3622.333 | 3554.74 | 3601.853 | 3621.85
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#1, 2
#2,3,4
16KB 1-50
KB/s
# 1 10 20 30 40 50
1 18878.43 96336.7 | 110479.1 | 108468.7 | 111174.8 111442
2 | 1IVM/1 16023.78 | 32331.98 | 32051.08 | 28467.91 | 36170.45 | 33209.69
3| 2VvM/1 12491.9 | 42220.23 | 45834.89 | 46783.31 | 42195.53 37059.2
4 | 3VM/1 13906.6 | 29983.64 | 3185152 | 32608.61 | 30851.64 | 31928.55
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16KB 1KB
1KB #2,3,4
256KB 1-50
KB/s
# 1 10 20 30 40 50
1 7160059 | 114330.7 | 1138439 | 114382 | 114277.1 | 1140232
2 | 1vM/1 72487.46 | 1147631 | 114757.3 | 114751.2 | 1147414 | 114737.4
3| 2vMm/1 40956.99 | 57187.94 | 5887597 | 53560.59 | 57121.83 | 56970.18
4 | 3VM/1 24628.99 | 3774049 | 37824.32 | 37915.81 | 37791.39 | 37788.68
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#1, 2

#2,3,4
Web 30K 30K
#
1 5 10 15 20
1 2727354 85411.32 1109745 | 111567.95 113498.2
2 | 1Iv™m/ 21585.21 41269.32 49439.53 69837.91 80146.5
3 | 2v™m/ 21783.36 45015.82 | 47919.555 49389.18 50573.53
4 | 3VM/ 18345.69 | 33910.493 31657.64 3259749 | 32409.613
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4.25packets/ms

FRLX
7 38

flood ping

flood ping

A VML B VM2
CPU
# CPU
1 0 151
2 1 2.94
3 2 4.01
4 3 493
5 4 591
6 5 6.5
7 6 7.62
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